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BDLOO5—0 Transfer Function, run sn 1225180

® Up—Ramp O Down—Ramp

— 3
x 10 L
0.42 —

0.41

Transfer Function S/Bdl/i
T

0.4 —

0.39 —

0.38 —

0.5/ —

0.56 —

0.35 —

97/04,/03

100

12.56

200 500 400 500 600 /700 800 900

current A




SBdl — 0.000414621xi, (T+m)

\
©
O

\
©
O
N

—-0.03

—-0.04

—-0.05

—-0.06

Non—linear part of Integrated Strength, BDLO0O5—0, sn 1225180
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BDLOO5—0 Harmonics, run sn 1225438
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BDLOO5—0 Harmonics, run sn 1225438
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BDLOO5—0 Harmonics, run sn 1225438
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BDLOO5—0 Harmonics, run sn 1225438
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